TRANSPORTATION

TYPICAL PARKING METER INSTALLATION
SIGN INSTALLATION DETAIL

STREET NAME SIGN FOOTING DETAIL
E-250 INSTALLATION

E-450 INSTALLATION

E-650 INSTALLATION




TYPICAL INSTALLATION
BASE COLLAR IN
CONCRETE WALK

Ilhn!ll-‘

REMOVE CONCRETE WALK,
CORE, OR SAW OPENING
FOR METER BASE COLLAR,
AS DIRECTED BY
ENGINEER

BASE COLLAR
STEEL PIPE

2" MINMUM _

% /—REBAR SUPPORT FOR PIPE

1

4 2 MINIMUM
X m).f d

7 Y1

STEEL PIPE 2.5" I.D. X 2.9" 0..

2" MINMUM

\ CONCRETE  SIDEWALK

4

5)! l

5/16" REBAR OR
EQUIVALENT FOR
TYPICAL TOP VIEW BOTTOM TEE

REBAR SUPPORT
FOR PIPE

TYPICAL PARKING METER BASE COLIAR
IN_CONCRETE SIDEWALK

TYPICAL PARKING METER BASE COLLAR
INSTALLATION IN SOIL

TYPICAL PARKING METER INSTALLATION T-1
REVISED/APPROVED 2/01/2013 ooy OgFP%‘éb“gng;%D’m e NO SCALE




NOTE: ALL DIMENSIONS ARE MINIMUMS.
A TWO PIECE POST MAY BE USED,

WITH 1.0 OVERLAP AND APPROVED

CONNECTOR.

C

SECONDARY SIGN \W‘—
NI=N
71_0"

STOP

HIGHWAY

STAINLESS STEEL WASHER & NYLON
WASHER (T=1/16" MIN., 1.0.=3/8" MAX.,
0.0.=7/8" MAX.)

SIGN PANEL

POST @
5/16" STAINLESS STEEL

BOLT, WITH NYLON INSERT
LOCK NUT.

NOTE: SEE SPECIAL PROVISIONS FOR
SIGN AND AND POST SPECIFICATIONS.

SIGN PANEL TO POST CONNECTION

f """"" 40" ALL MATERIALS AND LABOR USED TO
RELOCATE EXISTING SIGN AS SHOWN,

_—’ SHALL BE INCLUDED IN THIS PAY ITEM:

SPEC. 2564.602, REMOVE AND REINSTALL SIGN, EACH

SIGN INSTALLATION DETAIL

1-2

REVISED/APPROVED 2/01/2013

CITY OF DULUTH STANDARD DETAIL NO SCALE
DEPT. OF PUBLIC WORKS AND UTILITIES




T0P_VIEW

(2) 3/4” HOLES OFFSET

AT 90 DEG 3/4" FROM
TOP OF SLEEVE

1/2" CROWN, 8"

10" SIGN POST

[/‘ 2" 1D.

ALL MATERIALS AND LABOR USED TO CONSTRUCT SIGN
BASE AS SHOWN, AND REMOVAL AND REPLACEMENT OF
EXISTING SIGNS AND POLE IN NEW BASE, SHALL BE
INCLUDED IN THIS PAY ITEM.

SIGN POST

FOOTING

ANy

2 3/8" 0.0. x 10, GALV. STEEL

RETAINING RING
3" 1D. x 4" 0.D. x 1 1/2" WIDE CAST STEEL
THREADED FOR (2) 5/8" x 1 1/2" SQ. HEAD

TYPICAL LANDSCAPE MACHINE SCREW (PLATED), @ 90 DEG, APART, PUT

ANTI-SEIZE ON MACHINE SCREWS OR 3" I.D. x

TR

RECEIVER 3-1/2" 0.D. x 1 1/2" WIDE GALVANIZED STEEL
d 2-1/2" x 5/8" HOLES OFFSET AT 90 DEG. 3/4" FROM TOP
GALV. STEEL OF SLEEVE WELD NUT THREADED FOR 5/8" x

| —3Y43 CONCRETE 1-1/2" SQ. HEAD SET SCREW TO SLEEVE AT

HOLES AND PROTECTED WITH GALVANIZED SPRAY
5/8" x 1-1/2" SQ. HEAD SET SCREW (PLATED)
PUT ANTI-SEIZE ON MACHINE SCREWS

#6 x 10" STEEL RE-BAR
THRU (2) 3/4" HOLES PLACED
180 DEG APART AT 6" ABOVE
THE BOTTOM OF SLEEVE

SPEC. 2564.602, REMOVE AND REINSTALL SIGN, EACH

STREET NAME SIGN FOOTING DETAIL -3
REVISED/APPROVED 2/01/2013 N T M o CETAL NO SCALE




STAINLESS STEEL BOLTS (1" LONG X

1/4” X 20) WITH NYLON AND STAINLESS
STEEL WASHERS AND STAINLESS LOCKING
NUTS

e
I ORNAMENTAL TOP/@
NUT 0.30 KG

PLATE HOLDER WITH
STAR_HOLE

aé——

&)

16 MM SQUARE CENTER ROD

W Arowhead Rq.

NAME PLATE

ROD IS WELDED TO POST CAP

TOTAL WEIGHT OF ROD AND
POST CAP = 1.68 KG

NOTE: SEE ASSEMBLY SPECIFICATIONS (S-28)

POST CAP WITH ALLEN SET SCREWS

E—230 INSTALLATION

T-4

CITY OF DULUTH STANDARD DETAL
REVISED/APPROVED 2/01/2013 DEPT. OF PUBLIC WORKS AND UTILITIES

NO SCALE




PLATE HOLDER
ORNAMENTAL TEP/—'@

NUT 0.30 KG WITH STAR HOLE
M/—w MM SQUARE CENTER ROD

W. Arowhead R

NAME PLATE

“Kenwood Ave.

5 .;‘.f POST CAP WITH
Lo ROD IS WELDED TO POST CAP ALLEN SET SCREWS

® TOTAL WEIGHT OF ROD AND
POST CAP = 2.15 kg

NOTE: SEE ASSEMBLY SPECIFICATIONS (S-28)

E-450 INSTALLATION T-5
CTY OF DULUTH STANDARD DETAIL
REVISED/APPROVED 2/01/2013 DEPT. OF PUBLIC WORKS AND UTILITIES NO SCALE




ORNAMENTAL TOP

NUT 0.30 KG\@

PLATE HOLDER WITH

STAR HOLE

16 MM SQUARE CENTER ROD @\

@)

ROD IS WELDED TO POST CAP

TOTAL WEIGHT OF ROD AND POST CAP = 2.74 KG

Eky NOTE: SEE ASSEMBLY SPECIFICATIONS (S-28)

POST CAP WITH
" ALLEN SET SCREWS

E—650 INSTALLATION

T-6

CITY OF DULUTH STANDARD DETAL
REVISED/APPROVED 2/01/2013 DEPT. OF PUBLIC WORKS AND LTILITES

NO SCALE




